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Rather Uloh derives it from Tachas Tachas - 923 AN Nrn X9 RN

Overview

X7 derived that 717 1KY 0%wn by a 0IXn through a " of nnn nnn which is
written both by a 01X and by a 921." So just as by a 2211 he is P12 1K) obwn, the
same is true by a 01xn. The question is what would X?¥ maintain in other situations
where there is mpP%) 1nn, do we say there as well 717 1°R 2%Wn, or not.

- 2ym5 N9Y DU RINNT RIY MNP 9T 9T NIDOM 295 913519 13581
It is possible to say according to this conclusion (that X2 derives from the 797
MY of nnn nnn that 3712 1R o%wn) that X9 did not rule that he pays money

and is not ;1P in all (the other) cases -
= N9 9N3 5957 NN 1NN NON
But rather only by these three cases where the 770 revealed to us that 1% oown

7P12, namely by 21 ,0°nm11 7Y and by 018n (through a w"n) -
- 2905 ©YYS 19N HNNN XNNT 992 RIYY 1399551 912919 NI’

And we cannot say that according to X?'w, we derive in all cases that 11°R) oown

7719, from the Mw 77°13 of o2 2W" 7N NAN -
- 919992 2V ]J’Qb’ MY NI INDNT
Since from this @''t» we derive the payment of 3w by all ppm; however, it is not so

regarding P17 1R 2w -
- “PIunn 9N NINY YaPN 20N PIYY NPT

For it was specifically regarding 3w» that this w"1) was accepted, since that is

the actual payment, but not concerning the rules of NP> 197 -
- SRDIPN 999947 AR 13N 5295 KW 19 XY ONT

' By i it states (in ©3,25 [X¥n] £127) that XY A3y WY nop AwKY man 1) 992 0WRD A1YIa CIRY My 2% whRa 1)
P32 93 AnPY 9310 and by 921 it states (in 73,83 [2°0own] Nwaw) that 37 NoA 93] 72 NOR T W DDA W Y Dop .
2 Initially (on the 'R T1Y) the X3 assumed that X219 maintains that everywhere the rule is that 717 1% 0own (for we
derive it from 9217, or from the mw: 7%). However now that we derive it from the w"1 of nnn nnn (which is written
by oixn [and 2211]) we can assume that this rule applies only to di¥» (and 1" 217), but not elsewhere.
3 Regarding the o°p 1 of %371 1w, the 70 writes (in 7,20 o°vdwWn] Nnw) that the P°1 has to pay @%@ "3 \TY 20°H.
The X3 in (X,77) p"2 teaches that by any P12 where the words of either 22w ,71°n1 ,nnn, or 703 are mentioned, he is
required to pay 2vn. We derive it from various w"1 of 73 o%w> 1N nnn. Seemingly since we derive from 5217
(where nrin is written) that P17 1°R) 02w, this will apply to all places where 310 is written. N1901N rejects this.
* The '2%2' by 931 1w (see footnote # 3) was written specifically regarding the payment (Pm2wna 1), therefore it
only teaches us that payment must be with 2v'n, but it cannot teach us regarding mp%m1 111, for that is not mentioned
in the P105.
> See shortly on this T1»y and on X3 that >"3 maintains we cannot drive 7pY2 1’1 09w» from nnn which is written by
52, for the word nnn is needed as 2R expounds it (and >" maintains [by 0i8n] that D2wn 1R 7P17).
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For if you will not say so, but rather maintain that the ¥"t of 3"°1n applies even
for mpom1 1an, there will be a difficulty according to °''1 and "°ax who argue

with X?w
- %2051 19399 MY N1 119 1% 1 IONT

Is it then so that >aX1 °"1 do not agree to the w''ta of 2"°1n regarding 3ws»?!

mpoIN responds to the anticipated difficulty:’
= 192N3 J2INT NIY NN MPYHNIN 9091Y SN SNN 199 IR N9IWY NN

And here according to X7 this nrn (of 71y "wX nnn) is superfluous in order to

exempt the 01x» from npH» as derived from the w''13 of wounding his friend -
:N29TN DI DU N9 NPT RNYY *19Y 9195 7998 7991

Therefore it was necessary to say later that X' derives that the 0ix» pays nw1a
221 from where K29 derives it.

Summary
The rule of 7% 11°RY o%wn is limited to 0axk» (and 1"¥1 9210), for the " of 21N is

limited to 2v°» only.

Thinking it over
mooIn writes that 7717 11°KY 09wn is not in all cases. Why do we not derive 2%wn

P12 1K) in all cases through a mwi 78 of ' oam 1"y S2m?"!

% Obviously all agree to the w"r of 3"n regarding 2. So how can *"3 maintain by DIXa that own WX AP,
Therefore we must conclude that we cannot apply the w"1 of 3"°1n regarding 1p1? 1°%) 2own.
7 Now that we are saying that the w"ix of 2"n s exclusively for 2u™, how can X7 derive that 712 1% 09wn from
the nnn, which is written by 2217, since the w"13 of nnn is reserved for 2v°» only?!
¥ We can know that a 0Ixn pays from 2v°» from either 1n1' (73°N1) or 702 which is written in the same P09 (in 0127
12,22 [RxN]. The p1oo reads "3 7Y WK AN "2 (9D DOWINAN 7V ARD AV 20WT WK 3. See van "7 N,Jb '01n. The
nrn by 0IXn in not part of the general w'"13 3""1n.
9 x,3%. There is a dispute there between X2 »ax from where we derive that the 0Ix» pays 2391 N2, According to »ax
we derive it from 7Y WX pnn (therefore according to *>ax) "3 we cannot utilize that nin for a w"1x from H21m).
Obviously X219 cannot derive 031 nw12 from this P109, since he needs it for the w", therefore he must derive it, as
X271 explains, from the words of "1 7ny 20w W R 11’ (in that same 109 [see footnote # 8]).
OTf we would ask (M TX) 5P TX, we can answer 31 DIXD, if we ask 1109 K X0Ipn Xm0, we can answer 131 921
7P,
' See ywir "o.
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